

SYMMETRIC IDENTITIES ON BERNOULLI POLYNOMIALS

AMY M. FU, HAO PAN, AND FAN ZHANG

ABSTRACT. In this paper, we obtain a generalization of an identity due to Carlitz on Bernoulli polynomials. Then we use this generalized formula to derive two symmetric identities which reduce to some known identities on Bernoulli polynomials and Bernoulli numbers, including the Miki identity.

1. INTRODUCTION

The Bernoulli polynomials $B_n(x)$, $n = 1, 2, \dots$ are given by the generating function:

$$\sum_{n=0}^{\infty} \frac{B_n(x)t^n}{n!} = \frac{te^{xt}}{e^t - 1}.$$

In particular, we call $B_n := B_n(0)$ the n -th Bernoulli number.

In [6], Miki discovered the following identity on Bernoulli numbers:

$$\sum_{k=2}^{n-2} \frac{B_k B_{n-k}}{k(n-k)} = \sum_{k=2}^{n-2} \binom{n}{k} \frac{B_k B_{n-k}}{k(n-k)} + 2H_n \frac{B_n}{n}, \quad (1.1)$$

where

$$H_n := \sum_{i=1}^n \frac{1}{i}$$

is the n -th harmonic number. Later several different proofs of (1.1) were found by Shirantani and Yokoyama [8], Gessel [4], Dunne and Schubert [3]. Furthermore, in the same paper Dunne and Schubert also proved a similar identity conjectured by Matiyasevich [5]:

$$(n+2) \sum_{k=2}^{n-2} B_k B_{n-k} = 2 \sum_{k=2}^{n-2} \binom{n+2}{k} B_k B_{n-k} + n(n+1)B_n, \quad (1.2)$$

2000 *Mathematics Subject Classification.* Primary 11B68; Secondary 05A19, 05A15.

This work was supported by the 973 Project, the PCSIRT Project of the Ministry of Education, the Ministry of Science and Technology, and the National Science Foundation of China.

On the other hand, using a new difference-differential method, Pan and Sun [7] established the following generalizations of (1.1) and (1.2) for Bernoulli polynomials:

$$\begin{aligned} & \sum_{k=1}^{n-1} \frac{B_k(x)B_{n-k}(y)}{k(n-k)} - \sum_{k=1}^{n-1} \binom{n-1}{k-1} \frac{B_k(x-y)B_{n-k}(y) + B_k(y-x)B_{n-k}(x)}{k^2} \\ &= H_{n-1} \frac{B_n(x) + B_n(y)}{n} + \frac{B_n(x) - B_n(y)}{n(x-y)}, \end{aligned} \quad (1.3)$$

and

$$\begin{aligned} & \sum_{k=0}^n B_k(x)B_{n-k}(y) - \sum_{k=0}^n \binom{n+1}{k+1} \frac{B_k(x-y)B_{n-k}(y) + B_k(y-x)B_{n-k}(x)}{k+2} \\ &= \frac{B_{n+1}(x) + B_{n+1}(y)}{(x-y)^2} - \frac{2}{n+2} \cdot \frac{B_{n+2}(x) - B_{n+2}(y)}{(x-y)^3}. \end{aligned} \quad (1.4)$$

With the help of some symmetric identities on Bernoulli polynomials given in [10], they also proved a polynomial-type extension of an identity due to Woodcock [12]:

$$A_{m-1,n}(x) = A_{m,n-1}(x) \quad (1.5)$$

for positive integers m, n , where

$$A_{m,n}(x) = \frac{1}{n} \sum_{k=0}^n \binom{n}{k} (-1)^k B_{m+k}(x) B_{n-k}(2x) - \frac{1}{n} B_m(x) B_n(x).$$

Subsequently, Sun and Pan [11] discovered the following symmetric identity as a generalization of the above identities:

$$r \begin{bmatrix} s & t \\ x & y \end{bmatrix}_n + s \begin{bmatrix} t & r \\ y & z \end{bmatrix}_n + t \begin{bmatrix} r & s \\ z & x \end{bmatrix}_n = 0 \quad (1.6)$$

provided that $r + s + t = n$ and $x + y + z = 1$, where

$$\begin{bmatrix} s & t \\ x & y \end{bmatrix}_n = \sum_{k=0}^n (-1)^k \binom{s}{k} \binom{t}{n-k} B_{n-k}(x) B_k(y).$$

Motivated by the results of Dilcher [2], the referee of [11] asked whether there exists a generalization of (1.6) involving sums of products of more Bernoulli polynomials. In this paper, we shall give such a generalization.

Theorem 1.1. *Let m and n be positive integers. Suppose that r_1, \dots, r_m are arbitrary complex numbers. Then*

$$\begin{aligned} & r_{m+1} \sum_{\substack{k_1, \dots, k_m \geq 0 \\ k_1 + \dots + k_m = n}} \prod_{j=1}^m \binom{r_j}{k_j} B_{k_j}(x_j) \\ &= - \sum_{i=1}^m r_i \sum_{\substack{k_1, \dots, k_m \geq 0 \\ k_1 + \dots + k_m = n}} \binom{r_{m+1}}{k_i} B_{k_i}(1 - x_i) \prod_{\substack{1 \leq j \leq m \\ j \neq i}} \binom{r_j}{k_j} B_{k_j}(x_j - x_i + \mathbf{1}_{j>i}), \end{aligned} \quad (1.7)$$

where $r_{m+1} = n - r_1 - \dots - r_m$ and $\mathbf{1}_{j>i} = 1$ or 0 according to whether $j > i$.

Let us explain why (1.7) is equivalent to (1.6) when $m = 2$. It is not difficult to check that $B_k(1 - x) = (-1)^k B_k(x)$. Hence in view of (1.7),

$$\begin{aligned} & \sum_{k=0}^n \binom{s}{k} B_k(1 - y) \binom{t}{n-k} B_{n-k}(x) \\ &= -s \sum_{k=0}^n \binom{r}{k} B_k(1 - (1 - y)) \binom{t}{n-k} B_{n-k}(x - (1 - y) + 1) \\ & \quad -t \sum_{k=0}^n \binom{r}{k} B_k(1 - x) \binom{s}{n-k} B_{n-k}((1 - y) - x) \\ &= -s \sum_{k=0}^n (-1)^k \binom{t}{k} B_k(1 - x - y) \binom{r}{n-k} B_{n-k}(y) \\ & \quad -t \sum_{k=0}^n (-1)^k \binom{r}{k} B_k(x) \binom{s}{n-k} B_{n-k}(1 - x - y), \end{aligned}$$

which is indeed (1.6) by setting $z = 1 - x - y$.

2. PROOF OF THEOREM 1.1

For a power series $f(t_1, \dots, t_m)$, let $[t_1^{n_1} \dots t_m^{n_m}]f(t_1, \dots, t_m)$ denote the coefficient of $t_1^{n_1} \dots t_m^{n_m}$ in $f(t_1, \dots, t_m)$. The following lemma is a generalization of an identity due to Carlitz [1, Eq. (7)]:

Lemma 2.1.

$$\begin{aligned} & \sum_{i=1}^m n_i B_{n_i-1}(x_i) \prod_{\substack{1 \leq j \leq m \\ j \neq i}} B_{n_j}(x_j) \\ &= \sum_{i=1}^m n_i \sum_{\substack{k_1, \dots, k_m \geq 0 \\ k_1 + \dots + k_m = n_1 + \dots + n_m}} B_{k_{i-1}}(x_i) \prod_{\substack{1 \leq j \leq m \\ j \neq i}} \binom{n_j}{k_j} B_{k_j}(x_j - x_i + \mathbf{1}_{j>i}). \end{aligned}$$

Proof. Consider

$$\begin{aligned}
& (t_1 + \cdots + t_m) \prod_{i=1}^m \frac{t_j e^{x_j t_j}}{e^{t_j} - 1} \\
&= \frac{(t_1 + \cdots + t_m)}{e^{t_1 + \cdots + t_m} - 1} \left(\sum_{i=1}^m (e^{t_i} - 1) e^{\sum_{i < j \leq m} t_j} \right) \prod_{j=1}^m \frac{t_j e^{x_j t_j}}{e^{t_j} - 1} \\
&= \sum_{i=1}^m \frac{t_i (t_1 + \cdots + t_m) e^{x_i (t_1 + \cdots + t_m)}}{e^{t_1 + \cdots + t_m} - 1} \prod_{\substack{1 \leq j \leq m \\ j \neq i}} \frac{t_j e^{(x_j - x_i + \mathbf{1}_{j > i}) t_j}}{e^{t_j} - 1}. \tag{2.1}
\end{aligned}$$

Clearly, we have

$$[t_1^{n_1} \cdots t_m^{n_m}] (t_1 + \cdots + t_m) \prod_{i=1}^m \frac{t_j e^{x_j t_j}}{e^{t_j} - 1} = \sum_{i=1}^m \frac{B_{n_i - 1}(x_i)}{(n_i - 1)!} \prod_{\substack{1 \leq j \leq m \\ j \neq i}} \frac{B_{n_j}(x_j)}{n_j!}.$$

Now, for each $1 \leq i \leq m$,

$$\begin{aligned}
& [t_1^{n_1} \cdots t_m^{n_m}] \frac{t_i (t_1 + \cdots + t_m) e^{x_i (t_1 + \cdots + t_m)}}{e^{t_1 + \cdots + t_m} - 1} \prod_{\substack{1 \leq j \leq m \\ j \neq i}} \frac{t_j e^{(x_j - x_i + \mathbf{1}_{j > i}) t_j}}{e^{t_j} - 1} \\
&= \sum_{k_1, \dots, k_{i-1}, k_{i+1}, \dots, k_m \geq 0} \frac{B_{k_1 + \dots + k_{i-1} + k_{i+1} + \dots + k_m + n_i - 1}(x_i)}{k_1! \cdots k_{i-1}! (n_i - 1)! k_{i+1}! \cdots k_m!} \prod_{\substack{1 \leq j \leq m \\ j \neq i}} \frac{B_{n_j - k_j}(x_j - x_i + \mathbf{1}_{j > i})}{(n_j - k_j)!}.
\end{aligned}$$

Equating the coefficients of $t_1^{n_1} \cdots t_m^{n_m}$ on both sides of (2.1) gives the desired identity. \square

Proof of Theorem 1.1. Applying Lemma 2.1, we have

$$\begin{aligned}
& (n - r_1 - \cdots - r_m) \sum_{\substack{k_1, \dots, k_m \geq 0 \\ k_1 + \cdots + k_m = n}} \prod_{j=1}^m \binom{r_j}{k_j} B_{k_j}(x_j) \\
&= - \sum_{i=1}^m (k_i + 1) \sum_{\substack{k_1, \dots, k_m \geq 0 \\ k_1 + \cdots + k_m = n}} \binom{r_i}{k_i + 1} B_{k_i}(x_i) \prod_{\substack{1 \leq j \leq m \\ j \neq i}} \binom{r_j}{k_j} B_{k_j}(x_j) \\
&= - \sum_{\substack{k_1, \dots, k_m \geq 0 \\ k_1 + \cdots + k_m = n+1}} \prod_{j=1}^m \binom{r_j}{k_j} \left(\sum_{i=1}^m k_i B_{k_i-1}(x_i) \prod_{\substack{1 \leq j \leq m \\ j \neq i}} B_{k_j}(x_j) \right) \\
&= - \sum_{\substack{k_1, \dots, k_m \geq 0 \\ k_1 + \cdots + k_m = n+1}} \prod_{j=1}^m \binom{r_j}{k_j} \sum_{i=1}^m k_i \sum_{\substack{l_1, \dots, l_m \geq 0 \\ l_1 + \cdots + l_m = n}} B_{l_i}(x_i) \prod_{\substack{1 \leq j \leq m \\ j \neq i}} \binom{k_j}{l_j} B_{l_j}(x_j - x_i + \mathbf{1}_{j>i}) \\
&= - \sum_{i=1}^m r_i \sum_{\substack{l_1, \dots, l_m \geq 0 \\ l_1 + \cdots + l_m = n}} B_{l_i}(x_i) \prod_{\substack{1 \leq j \leq m \\ j \neq i}} \binom{r_j}{l_j} B_{l_j}(x_j - x_i + \mathbf{1}_{j>i}) \\
&\quad \cdot \sum_{\substack{k_1, \dots, k_m \geq 0 \\ k_1 + \cdots + k_m = n+1}} \binom{r_i - 1}{k_i - 1} \prod_{\substack{1 \leq j \leq m \\ j \neq i}} \binom{r_j - l_j}{k_j - l_j}.
\end{aligned}$$

By the Chu-Vandermonde identity, we have

$$\begin{aligned}
& \sum_{\substack{k_1, \dots, k_m \geq 0 \\ k_1 + \cdots + k_m = n+1}} \binom{r_i - 1}{k_i - 1} \prod_{\substack{1 \leq j \leq m \\ j \neq i}} \binom{r_j - l_j}{k_j - l_j} \\
&= \binom{r_1 + \cdots + r_m - 1 - l_1 - \cdots - l_{i-1} - l_{i+1} - \cdots - l_m}{k_1 + \cdots + k_m - 1 - l_1 - \cdots - l_{i-1} - l_{i+1} - \cdots - l_m} \\
&= \binom{r_1 + \cdots + r_m - 1 - n + l_i}{l_i} \\
&= (-1)^{l_i} \binom{n - r_1 - \cdots - r_m}{l_i}.
\end{aligned}$$

This completes the proof. \square

3. A GENERALIZATION OF DUNNE AND SCHUBERT'S IDENTITY

In [3], Dunne and Schubert also proposed an extension of Miki's identity (1.1) involving the gamma function $\Gamma(z)$:

$$\begin{aligned} & \frac{1}{\Gamma(2p+2n)} \sum_{k=1}^{n-1} B_{2k} B_{2n-2k} \frac{\Gamma(p+2k)\Gamma(p+2n-2k)}{\Gamma(2k+1)\Gamma(2n-2k+1)} \\ &= 2\Gamma(p+1) \sum_{k=1}^n \frac{B_{2k} B_{2n-2k}}{(2k)!(2n-2k)!} \frac{\Gamma(p+2k)\Gamma(2p+2n-1)}{\Gamma(2p+2k+1)} + \frac{2B_{2n}}{(2n)!} \sum_{k=1}^{2n-1} \beta(p+k, p+1), \end{aligned}$$

where $\beta(a, b) = \Gamma(a)\Gamma(b)/\Gamma(a+b)$ is the beta function. However, applying Lemma 2.1 and the identity

$$\frac{\Gamma(p+k)}{\Gamma(k+1)} = (-1)^k \Gamma(p) \binom{-p}{k}$$

for $p \notin \{0, -1, -2, \dots\}$, we are led to the following generalization.

Theorem 3.1. *Let m and n be positive integers. Suppose that p_1, \dots, p_m are non-integral complex numbers. Then*

$$\begin{aligned} & \Gamma(p_{m+1}+1) \sum_{\substack{k_1, \dots, k_m \geq 0 \\ k_1 + \dots + k_m = n}} \prod_{j=1}^m \frac{\Gamma(p_j + k_j)}{\Gamma(k_j + 1)} B_{k_j}(x_j) \\ &= - \sum_{i=1}^m \Gamma(p_i + 1) \sum_{\substack{k_1, \dots, k_m \geq 0 \\ k_1 + \dots + k_m = n}} \frac{\Gamma(p_{m+1} + k_i)}{\Gamma(k_i + 1)} B_{k_i}(1 - x_i) \prod_{\substack{1 \leq j \leq m \\ j \neq i}} \frac{\Gamma(p_j + k_j)}{\Gamma(k_j + 1)} B_{k_j}(x_j - x_i + \mathbf{1}_{j>i}), \end{aligned} \tag{3.2}$$

where $p_{m+1} = -(p_1 + \dots + p_m + n)$.

REFERENCES

- [1] L. Carlitz, *Note on the integral of the product of several Bernoulli polynomials*, J. London Math. Soc., **34** (1959), 361-363.
- [2] K. Dilcher, *Sums of products of Bernoulli numbers*, J. Number Theory, **60** (1996), 23-41.
- [3] G. V. Dunne and C. Schubert, *Bernoulli number identities from quantum field theory*, preprint, 2004, [arXiv:math.NT/0406610](https://arxiv.org/abs/math.NT/0406610).
- [4] I. M. Gessel, *On Miki's identity for Bernoulli numbers*, J. Number Theory, **110** (2005), 75-82.
- [5] Y. Matiyasevich, *Identities with Bernoulli numbers*, <http://logic.pdmi.ras.ru/syumat/Journal/Bernoulli/bernoulli.htm>, 1997.
- [6] H. Miki, *A relation between Bernoulli numbers*, J. Number Theory, **10** (1978), 297-302.
- [7] H. Pan and Z. W. Sun, *New identities involving Bernoulli and Euler polynomials*, J. Combin. Theory Ser. A, **113** (2006), 156-175.
- [8] K. Shirantani and S. Yokoyama, *An application of p -adic convolutions*, Mem. Fac. Sci. Kyushu Univ. Ser. A, **36** (1982), 73-83.

- [9] Z. W. Sun, *General congruences for Bernoulli polynomials*, Discrete Math., **262** (2003), 253-276.
- [10] Z. W. Sun, *Combinatorial identities in dual sequences*, European J. Combin., **24** (2003), 709-718.
- [11] Z. W. Sun and H. Pan, *Identities concerning Bernoulli and Euler polynomials*, Acta Arith., **125** (2006), 21-39.
- [12] C. F. Woodcock, *Convolutions on the ring of p -adic integers*, J. London Math. Soc., **20** (1979), 101-108.

E-mail address: fu@nankai.edu.cn

CENTER FOR COMBINATORICS, LPMC-TJKLC, NANKAI UNIVERSITY, TIANJIN 300071,
PEOPLE'S REPUBLIC OF CHINA

E-mail address: haopan79@yahoo.com.cn

DEPARTMENT OF MATHEMATICS, SHANGHAI JIAOTONG UNIVERSITY, SHANGHAI 200240,
PEOPLE'S REPUBLIC OF CHINA

E-mail address: zhangfan03@mail.nankai.edu.cn

CENTER FOR COMBINATORICS, LPMC-TJKLC, NANKAI UNIVERSITY, TIANJIN 300071,
PEOPLE'S REPUBLIC OF CHINA